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PECS 3301

Sixth Semester Examination — 2008

ARTIFICIAL INTELLIGENCE

Full Marks =70

Time:3 Hours

Answer questions from Section— A or B

; but not from both.

Section—-A

Answer Question No. 1 which is compulsory
and any five from the rest.
The figures in the right-hand margin
indicate marks.

1. Answerthe following questions : 2x10
(a) Whatis the space and time compiexity of
minimax search with alpha-beta pruning ?
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Section-B

and any five from the rest.

indicate marks.
1. Answer the following questions :

space.

strategy.

~ backward chaining.
()  Define Al and agent

specific chunks of knowledge ?

ing ?
(i)  Whatis inferencing mechanism ?

system 7

problem :
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Answer Question No. T which fs compulsory
The figures in the right-hand margin

2x10
(@) Dislinguish between search space and state

(b) Write two characteristics of good control
(c) Differentiate between Knowledge and data.

(d) Ul.fh_a-t 15 a heuristic search technique ?
(e) Differentiate between forward chaining and

(g) What basic furictions or operations musta
program perform in order to access

(h)  What do you mean by syntactic process-

() What is a non-monotonic reasoning

2. (a) Showtham‘algﬁrithmisadmissit:re\ 5

(b) Givehthe initial state, goal lest, sUuccessor
function and cost function for the following
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“Two water jugs, a 7 litre one and a 4 litre
one, have no measuring marks on them.
There is a pump with continuous flow of
water. How can exactly 2 litres of water be
stored inthe 7 litre jug™ ? 5

Describe a state space in which iterative
deepening search performs much worse
than depth-first search. , 5

What are the different characteristics
that govern the direction of a search
procedure ? When is the bidirectional
search more fruitful 7 5

Differentiate between reflex agent, goal-
based agent, utility based agent and leam-
ing agent. 5

Show that if a heuristic is consistent, it must
be admissible. Construct an admissible
heuristic that is not consistent. 5

Represent the following sentences in first-
order-logic : o)

“Politicians can fool some of the people
all of the time, and they can fool all of
the people some of the time, but they
can't fool all of the people all of the time.”
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